Measurement fa fa2 fa3
Pai = 0 0.22919 [0.00, 0.37] 0.003-42 [0.00, 1.00] 0.00+3-2% [0.00, 0.43]
(0.00722810.00,0.27]  (0.00192>[0.00,1.00] )  (0.00+322[0.00,0.70] )
U[0.92,1.00] )
Pai = 7T 0.00298 [0.00, 0.82] 0.003:9€ [0.00, 0.15] 0.00+3-23 [0.00, 0.40]
U[0.56,0.68]
(0.00795710.00,1.00] ) (0.0075:98 [0.00,0.18]  ( 0.001032 [0.00,0.70] )
U [0.62,0.73
any ¢;; 0.3919-2% [0.00, 0.57] 0.327928 [0.00, 1.00] 0.0079.17.10.00, 0.47]
(0.007950.00,1.00] )  (0.0072>9 [0.00,1.00] ) ~ ( 0.0072:42 [0.00,0.74] )
any ¢ui, fa1, a1 0.11721% [0.00, 0.65] 0.007392 10.00, 0.19]
(0.007972[0.00,1.00] )  (0.007322[0.00,0.84] )
any ¢ui, faz, a2 0287921 [0.00,0.63] 0.0079:1510.00, 0.54]
(0.0079-8510.00,1.00] ) (0.0079:32 [0.00,0.81] )
any ¢ai, faz, a3 0.42702 [0.00,0.57 0.28%923 [0.00,0.97]

(0.0079:56 [0.00,1.00] )

(0.009-23 [0.00,1.00] )




